05900 R4 7K B R3-SR BE- °] YAk X

7= miiEA

M
Ml
RELRIEF

g
EmESNBEELLE,

BR:
EmRREPER. TAXANIERE—H. TEUEIENERE
BXU T REREM,

R4 -

05280 BRI 18

05880 X

05899 Al FHRIEFXZH H1&Biss
07110 RIHEKE R iR1e
07117 AN KF4

07120  JRAF3E L1242 DIN 6332
07121 HEKLTATIE L 1R 48
07140 &P DIN 6311

07142 [EH]

@
— & B
ah
&\'J
Al =
A2
A
; @
%‘TE' @l & of & i I8
* Fan' £
A2 A3
A o
<A

© norelem www.norelem.com




05900 R4 7K B R3-SR BE- °] YAk X

XkfFH W kEFH  REH XKD REZRITHS

F1 F2 F3 F4

N N N N
05900-004002 1 87° 69° 80 400 500 250 300 05880-02
05900-005002 2 86° 67° 100 650 900 550 620 05880-02
05900-006002 3 86° 67° 160 1350 1900 720 1200 05880-04
05900-008002 3 86° 67° 200 2000 2800 830 1400 05880-04
05900-010002 3 90° 71° 250 2200 4500 1200 2800 05880-06
05900-012002 4 88° 68° 280 2400 5500 1000 2800 05880-06

05900-004002 M4x16 | 16 12,8 0,95 28,7 | 26,3 | 91,8 | 23,7
05900-005002 M5x25 | 18 45 135 - 168 273 132 - 22 5 172 525 55 43,4 | 38,9 | 1257 | 41,8
05900-006002 M6x35 | 26 39 6,5 - - 28 | 39 |17,5 12,5 23 2,5 435 254| - |55 63,7 | 59,6 | 186,6 | 60,5
05900-008002 M8x45 | 26 (44| 9 | - - 31 | 45 | 21 | 16 | 24 |25/415 322| - |62 739 | 70,1 | 2231 | 74,9
05900-010002 | M10x55 |41,56|59| 9 | - - 43 | 59 | 26 | 19 | 39 |3,5| 47 40 - 188 948 88 |279,4|103,9
05900-012002 | M12x70 | 44 (65|10 | 40 1 42 | 67 | 28 | 21 | 40 |3,5| 47 52,3|13,5(8,5 104,8 | 101,6 | 314,7 | 122

© norelem www.norelem.com



